FIRST YEAR HIGHER SECONDARY SAMPLE QUESTION PAPER

BUSINESS STUDIES

Max score -80

Time -2.30hrs

Cool off time -15minutes

I.Answer any eight of the following questions from 1 to 10. Each carries one score.(8%1=8).

1)The broad classification of business on the basis of function is

a) Trade and aids to trade

b) Small scale and large scale
c) Internal and external

d) Industry and commerce

2)The eldest member of Joint Hindu Family business is called

3)The principle of one man one vote is followed in organizations.

a) company

b) partnership

c) co-operative society
d) HUF firm

4) LIC is an example of

a) Departmental organization
b) Statutory corporation

c) Government company

d) Joint stock company

5) Transportion removes the hindrance of

a) Place
b) Time
c) Risk
d) Finance
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6) Interaction between various departments in an organization is an example of

a) B2C
b) B2B
c) C2C
d) IntraB

7) Charity payment by a business man is responsibility.

a) Ethical
b) Discretionary
c) Legal

8) Name the document issued by a public company to invite the public to subscribe its shares
or debentures.

9) Find out the odd one from the following.

a) Debenture
b) Loan

c) Public deposit
d) Equity shares

10) Expand - NABARD.

Il. Answer any five of the following questions from 11 to 16. Each carries 2 scores . (5*2=10)

11) List any four characteristics of business?
12) Complete the following as per hint given:
Hint : Partnership _ partner.

a) Co operative societies
b) Company

13) Write any two features of global enterprises?

14) List out any two resources required for E-business?
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15)Narrate any two functions performed by a promoter of a company?

16)What do you mean by retained earnings ?

lll. Answer any five of the following questions from 17 to 22. Each carries 3 scores. (5*3=15)

17)Briefly explain any three factors influencing choice of business finance.

18) Give any three differences between domestic trade and international trade.

19) Briefly explain any three types of itinerant traders.

20) Briefly explain any three causes of environmental pollution.

21) Write any three features of co operative societies.

22) List out any three differences between goods and services.

IV. Answer any four of the following questions from 23 to 27. Each carries 4 scores . (4*4=16)

23)Briefly explain about four sources of finanace available to joint stock companies.
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24)E-business has several benefits. Explain any four benefits .

25) Match the following .

A B
Hindrance of place insurance
Hindrance of risk transport
Hindrance of finance warehousing
Hindrance of time banking

26)Describe government company. Give any two merits of it.

27)Differentiate private company and public company .(any four)

V.Answer any three of the following questions from 28 to 31. Each carries 5 scores . (3*5=15)

28)Explain about various problems faced by small business enterprises in india .

29)Explain about different classes of memorandum of association.

30)Explain social responsibilities of business towards different interests groups.

31)Briefly explain any five steps involved in import procedure.
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VI. Answer any two of the following questions from 32 to 34. Each carries 8 scores, (2*8=16)

32)Explain about any four principles of insurance.

33)Differentiate between departmental stores and multiple shops.(8 differences).

34)Define partnership. Explain its three merits and three demerits.
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